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6H22H (1) #%HA

2 H4X Ei [ BR-ABR(RIEM W E=
BHYN 8E = 5kg #a kg 800 TE
BHHN 102 FE 5kg 5= kg 750 TBE
I HN 102 FiE 5kg 78 ke 700 EiE
71 7/9kg dtiEE 1A 7 kg 950 EE
Jy 7/9kg E 1A & kg 850 TE
054 2E iEE | 11/14kg 5= kg 800 TBE
ES<Y 7/9kg R 1A S kg | 1,100 EE
19+ 5/6/ R 3kga #a kg | 2,200 EE
pawES 3/5E RI& 7/9kg i kg | 1,300 EE
H3IF 5FE =W S5keg& #a kg | 1,300 EE
£ B 4 GEdor] 5/5.5kg & kg | 2,750 # BERE
£ BfA 5 GEdon] 5/5.5kg i kg | 2,600 # EF
hyx 4kg SALE 1A B kg | 1,400 18
hy#t 3kg LA 1A & kg | 1,300 &
hvxr 4kg fgiE 1A 7 kg | 1,200 ]
Dals 2/3kg ko 1A 8 kg | 2,000 EE FEX
R 3/4kg k. 1A 8 kg | 1,200 8 EX
B 2.5kgUP B 1A #a kg | 1,300 8 EX
£ EYINE FiE 500g i P | 2,600
iy 102 FEE P P | 1,200
BET7 102 et 1kg P P | 3500
55X 100g N3 P P 500
Ry+H #9300¢g tiEE 1 kg | 1,600
HHT 100/130g o o} & kg | 3,200
HHT 150/180g =I5 & kg | 3,200
HHT 200/250g Ri& & kg | 3,200
HHT 250/300g | EI& & kg | 3,400
EYHIT 30/40g o & kg | 3,200
BEYYT 40/50g o & kg | 2,800
EYHT 50/60g o & kg | 2,700




